ITI Wireman 2nd Year Module 4 DC Regulated Power Supply and CFL,
LED Lamps

(1). How does the depletion region behave? | BT &3 H8 TAER BT 82
(A) AS conductor | AS hedcx

(B) AS semiconductor | AS MOEIRED
(C) ASresistor | AS IRTER

(D) ASinsulator | AS%T{-@ET

Correct Answer : D

(2). Which type of capacitor is used in TJ(PI) filter circuit of rectifier? | IfFeHRR

F T7(P1) fheex Tfhe H fhd YR & HURTex BT IUANT fha1 SI1d1 872
(A) Paper capacitor | UUR BURTER

(B) Ceramic capacitor | RIRfH® HURTER

(C) Mica capacitor | 3@ HURTER

(D) Electrolytic capacitor | IAdCIATRICH HURTCR

Correct Answer : D

(3). Which element is used as semi conductor? | Or?l"l T dd YHIhsae &b U H

TN foh T ST 82
(A) Silver | Tidl

(B) Silicon | Riferda
(C) Copper | didT

(D) Aluminium | H?ﬂ'ﬁﬂﬁﬂﬂ



Correct Answer : B

(4). Which is the second stage of a DC power supply? | DC foroTett S{HﬁW QNI
WU DA G?

(A) Voltage transformation | mm
(B) Filtering | e

(C) Rectification | %@W

(D) Input supply | GI'I"'IT‘NﬂTﬁ

Correct Answer : C

(5). Which doping material is used to make P type semiconductor? | P UHR B

3T &I 99 & o fora Sift wmeht &1 SuanT fasan Srar g2
(A) Boron | IRTH

(B) Arsenic | 3T

(C) Antimony | T=CHIHL

(D) Phosphorous | BRI

Correct Answer : A

(6). How the P - type semiconductor is formed? | P - UbIR 3fefTeIs Y SEILY

ST 87

(A) Germanium with phosphorus | BRBRY & 1Y STHATH
(B) Silicon with aluminium | g%uﬂ%ﬁwuﬁﬁ%iﬁ:r

(C) Germanium with antimony | W%Wﬂﬁﬁﬁ’qﬂ

(D) Germanium with aluminium | g%ﬂﬂ%mq\_ﬂﬁﬁ'qﬂ



Correct Answer : B

(7). What does letter ‘2N’ indicate in the semiconductor device? | 2N’ MUEIRED

gfad & 1 g1 82
(A) The diode PN junctions | PN SIaRH SIS
(B) The number of terminals | <t ) e

(C) The device power | Irgdl‘é%l qidY

(D) Two junction device | &l SiaRH Irgdl‘é%l

Correct Answer : D

(8). How many diodes are used in a half wave rectifier? | W%Wﬁ
fpa- STAIS &1 SUTNT faaT ST 82

(A) 1

(B) 2
(C) 3
(D) 4

Correct Answer : A

(9). What happened in bridge rectifier if one diode is open? | aﬁwmm
B Y forot Yfae R H a8 87

(A) Works as half wave rectifier | W%W% =g H <Jb|€4r hXdl %
(B) Work as full wave rectifier | W%W%Wﬁmﬁ

(C) Low output | PH Idlcd

(D) Output voltage doubled | 3{I3CYC alecol Eﬁ"fﬂﬁ"ﬁﬂ




Correct Answer : A

(10). What is the relation between input AC voltage (VAC) and output DC voltage
(VDC) in full wave rectifier? | d dd fGehTaR H 379 T dlees (VAC) 3R
3T3eYC ST dlee™ (vDC) o dTa TaY T 82

(A) Vdc=0.45 Vac

(B) Vdc=0.637 Vac
(C) Vdc=0.707 Vac
(D) Vdc=0.9Vac

Correct Answer : D

(11). What is the output DC voltage in half wave rectifier if the input AC voltage is
24v? | TS ZAYE AC Alee™l 24V g A1 8T 9d GCHRR H 3T3eYC DC dlecs FT

87

(A) 9.6V
(B) 10.8V
(C) 12V
(D) 24V

Correct Answer : B

(12). What is the name of maximum reverse voltage the diode can with stand? |

SIS o1 fay Ws W 3ifdiman Rad diees HTRTTH B2
(A) Knee voltage | =T dice ol
(B) Barrier voltage | SRR A

(C) Peak inverse voltage | it 5'_'ch alecol




N

(D) Cutin voltage | ¢ 3 dlceol

Correct Answer : C

(13). Which of the lamp has no filaments? | m%ﬁﬁéﬁmﬁzﬂﬁ%

(A) LED lamp | LED &I

(B) CFLIlamp | CFLTT

(C) Incandescent lamp | 3ddd dnlqcb

(D) Fluorescent lamp | TIRNIE o

Correct Answer : A

(14). What is the use of LED? | LED & SUTNT T §?

(A) To rectify AC to DC | T T St A §geq

(B) To reduce the ripple | U@ @I ®HH & o ford

(C) To regulate the voltage | dices &I IR HH & folg
(D) To indicate light | TbTRI b1 <RI & forw

Correct Answer : D

(15). Which is a passive component? | WW@?W%?
(A) Diode | SHS

(B) Capacitor | PRI

(C) Transistor | ET%IET

(D) Diac | fSaT®H

Correct Answer : B



(16). What is the maximum reverse voltage of a Half wave rectifier to avoid break

down of the diode? | SIS B! ge ¥ &dH o foll 8T dd IIGC IR &1
3y Rad gl T 8?

(A) Less than the PIV rating of the diode | SIS B pIVIIET A HH

(B) More than the PIV rating of the diode | SIS B pIv I I 3D
(C) Equal to PIV rating of the diode | SIS &I IV T & TR

(D) Double to PIV rating of the diode | ST I S9d I pIv T

Correct Answer : B

(17). Which is the high power passive component in D.C. power supply? | DC

faotelt smafd & S= wifea fAfepg gcs o A g2
(A) Transistors | QT%IET

(B) Diodes | SHS

(C) IC

(D) Resistors | PIREEED

Correct Answer : D

(18). How many diodes are used in a centre tapped full wave rectifier? | T %’l:%r

B 3g e hRR | foha ST &1 IUTIT fhar ST 82
(A) 2
(8) 3
(C) 4
(D) 5

Correct Answer : A



(19). Which filter circuit is capable of removing voltage spikes in the rectifier

circuit? | DI T ftheex Ffbe YdehRR Ffthe A divcsl WIS &l geM & J&H
o?

(A) RC filter | RC flheex

(B) Capacitor input filter | HUTRA 3YC flheex

(C) Series inductor filter | 4T URH HRAATC flheex
(D) T filter (PI filter) | TT fheex (M3Mg heey)

Correct Answer : D

(20). What is the name of lamp? | aTqW:IWGPZIT%?

(A) Incandescent lamp | audit dius
(B) Fluorescent lamp | TIRNIE dg
(C) Neonlamp | [ERIEhSL]

(D) CFL

Correct Answer : D



(21). What is the reason for barrier voltage is more in silicon material? | Rt

gerf # SRR diees ifie §IF &1 RUI T 52

(A) Resistance is very low | cri%@rwg?rm%

(B) Doping percentage is more | SITUT ST Jfd=Id W%

(C) valance electrons are two only | YISl $@Id§Tﬂ Hdd Eﬁ%

(D) Lower atomic number | WWTQIF@IT

Correct Answer : D

(22). Which is typical forward voltage drop of green colour LED? | @Wﬁ LED
&1 AP WIRAS diecs ST S AT B2

(A) 1.6V

(B) 1.8V
(C) 2V
(D) 2.2V

Correct Answer : D

(23). Which is a active component? | WW@?W%’J
(A) Resistor |WIT

(B) Transistor | QT%IET

(C) Inductor | $8FCR

(D) Capacitor | HUTRIC

Correct Answer : B



(24). Which type of resistor used in general purpose electronic circuit? | HHI

o SAagi-d Aide B [l UHR B JRRER SUIRT fordT STl 872
(A) Wire wound fixed resistor | IR §8 iy IRER

(B) Wire wound variable resistor | IR §8 dRUse IRRER

(C) Variable carbon resistor | GRITIT BT XRIER

(D) Carbon composition resistor | @Te T YRRER

Correct Answer : D

(25). What is the reason for widened barrier in a reverse biased diode? | ﬁﬂﬁ
TG SIS H IS ARy T HRUT T 87

(A) Electrons and holes are attracted towards supply terminals | sﬁaﬁ:r GﬁT

fevg: Myl efHel 1 iR s fia gl &

(B) Minority carriers in two materials are neutralised | I gERE | SeuieTd
qeH fASTHTE 1 o §

(C) Electron in N material is admitted to positive terminal | N Wﬁﬁg@lﬂ@'ﬁﬁ

Y THD SiHd H U= BT STl §

(D) Holes in P material attracted to negative terminal | P A A &6 ThRIHAS

i @ oI sreffaga g

Correct Answer : A




